AIAPGET 2021 Unani Set 01

Topic:- AIAPGET_S21_UN_S01

1) Bradykinin causes

A. Vasoconstrictions

B. Pain at the site of inflammation
C. Bronchodilation

D. Decreased vascular permeability

Choose the correct answer from the options given below:

et Uy s uiilS S5l

B oS oS 9, A

S 5,5 ) Wil pleo B

B SolisS S piin> 99,£ .C

S oigr pS =S idamaoyy U 59 wed S Yg,c D

[Question ID = 241]
1. Aand D only

[Option ID = 961]
2. Bonly

[Option ID = 962]
3. Conly

[Option ID = 963]
4. Cand D only

[Option ID = 964]

2) Match List | with List I

List | List Il

Disease name Cause

A. Byssinosis I. iron dust

B. Siderosos Il. silica dust
C. Grinder’s disease lll. coal dust
D. Black lung disease IV. cotton dust

Choose the correct answer from the options given below:
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[Question ID = 242]
1. A-IV,B-I,C-1l,D-1lI

[Option ID = 965]
2. A-IV,B-1l,C-1,D-1ll



[Option ID = 966]
3. A-1,B-1I,C-1V,D-I

[Option ID = 967]
4. A-IV,B-1ll,C-1I,D-1

[Option ID = 968]
3) Pulseless disease is
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[Question ID = 243]
1. Giant cell arteritis / gwl )l Jow Sl

[Option ID = 969]
2. Takayasu arteritis / gl 9wbSL

[Option ID = 970]
3. Kawasaki disease / 8 (sSLuwlgls

[Option ID = 971]
4. Polyarteritis nodosa / LwgSgs il )l sJb

[Option ID = 972]

4) Given below are two statements
Statement I: Ballooning degeneration is seen in acute hepatitis.
Statement II: Bridging necrosis is seen in chronic hepatitis. In light of the above statements,

choose the correct answer from the options given below
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[Question ID = 244]
1. Both Statement | and Statement Il are true / Lw gu=o Ugig> ¥ ULy ol ) ULy

[Option ID = 973]
2. Both Statement | and Statement Il are false / L ble Ugigs ¥ Uly yol ) ULy

[Option ID = 974]
3. Statement | is true but Statement Il is false / — lle ¥ ol S = e ) Ul

[Option ID = 975]
4, Statement | is false but Statement Il is true / — eu=o ¥ Ulu S s kle ) uly

[Option ID = 976]

5) Match List | with List Il

List | List Il

A. Fasikh |[l. Taffarrug-o-Ittesal of muscles and blood vessels
B.Basiq  |[Il.Taffarrug-o-Ittesal of bone

C. Sahaj |lll. Taffarruqg-o-lttesal of arteries and veins

D. Batir  |IV. Taffarruqg-o-Ittesal of skin

Choose the correct answer from the options given below:
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[Question ID = 245]
1. A-ll,B-1,C-1l,D-1IV

[Option ID = 977]
2. A-Il,B-1,C-1v,D-1lI

[Option ID = 978]
3. A-IV,B-1l,C-1,D-1l

[Option ID = 979]
4. A-1,B-1Il,C-1V,D-1

[Option ID = 980]

6) Given below are two statements

Statement I: Causes of Ittesa e Majari include weak Quwwate masika and strong Quwwate dafeah.

Statement II: Causes of Ittesa e Majari include use of Mushil and Murakhkhi adviya. In light of the above statements, choose
the most appropriate answer from the options given below
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[Question ID = 246]
1. Both Statement | and Statement Il are correct / Lw guso Ugigs ¥ Ulu ol V Uly

[Option ID = 981]
2. Both Statement | and Statement Il are incorrect / (uw ble Ugigs Y Uly jol )} Uly

[Option ID = 982]
3. Statement | is correct but Statement Il is incorrect / — ble Y uly S ) gu=xo ) Uly

[Option ID = 983]
4. Statement | is incorrect but Statement Il is correct / . zu=o Y Ulu SJ o kle ) uly

[Option ID = 984]

7) Given below are two statements
Statement I: Alamate Arziya and Alamate Tamamiya are the types of Alamate Sahiha.

Statement II: Alamate Muwagqgqita and Alamate Ghair Muwaqqita are the types of Alamate Marziya. In light of the above
statements,

choose the correct answer from the options given below
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[Question ID = 247]
1. Both Statement | and Statement Il are true / L guso Ugigs ¥ Ulu ol V Uly

[Option ID = 985]
2. Both Statement | and Statement Il are false / w ble Ugigs Yulu yl )V Uly

[Option ID = 986]
3. Statement | is true but Statement Il is false / _ lle ¥ uly S ) ez ) Ul

[Option ID = 987]
4. Statement | is false but Statement Il is true / ) gu=o Y Uy SJ o ble ) uly

[Option ID = 988]
8) The causes which still have their effects even after their removal are termed as
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[Question ID = 248]
1. Asbabe Ghair Mukhallifa / ~also pe Olowl

[Option ID = 989]
2. Asbabe ghair Muzadda / oslao yu¢ wlowl



[Option ID = 990]
3. Asbabe Wasila / Aloly wlowl

[Option ID = 991]
4. Asbabe Mukhallifa / ~élzxo wlowl

[Option ID = 992]

9) Arrange the following in the correct sequence of steps in stages of Waram e har
A. Darja Tazayyid

B. Darja Ibtida

C. Darja Inteha

D. Darja Inhetat

Choose the correct answer from the options given below
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[Question ID = 249]
1. A,B,C,D

[Option ID = 993]
2. B,C,A D

[Option ID = 994]
3. B,A,CD

[Option ID = 995]
4. A,C,B,D

[Option ID = 996]
10) Riyah ul Afrisah belongs to

€ e uuS Bl S AoVl 2L,

[Question ID = 250]

1. Marz-e-majari / S, yo0

[Option ID = 997]
2. Marz-e-shakl / JS_w o0

[Option ID = 998]
3. Marz-e-adad / sac o0

[Option ID = 999]
4. Marz-e-safaaih / golans yoy0

[Option ID = 1000]

11) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Presence of fever in case of ascites is an example of Marz-e- Ghair Musallam.

Reason R: Marz-e-Ghair Musallam are diseases that are difficult to treat means there are complications in the treatment of
disease which did not provide an opportunity for proper medical treatment.

In light of the above statements, choose the most appropriate answer from the options given below:
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[Question ID = 251]
1. Both A and R are correct and R is the correct explanation of A / — U,S welog caw,s S o )1 jol Lwr cu=o Ugigs )T jol |

[Option ID = 1001]
2. Both A and R are correct but R is NOT the correct explanation of A / —; U,S Luw wlog cow)s S o )1 oS« Gwr eu=o Ugigs )T jol |

[Option ID = 1002]
3. Ais correct but R is not correct / — Guw euzo )l S ) uxo |

[Option ID = 1003]
4. Ais not correct but R is correct / _ zu=o )l oS ) L Cuxo |

[Option ID = 1004]
12) The following are Amraz-e-mufridah, Identify which one is not included in Marz-e-khilgat:
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[Question ID = 252]
1. Marz-e-majari / S,leo yo0

[Option ID = 1005]
2. Marz-e-shakl / JS_& oo

[Option ID = 1006]
3. Marz-e-safaaih / gilan yoy

[Option ID = 1007]
4. Marz-e-adad / sac oy

[Option ID = 1008]

13) Match list | with list Il

List I:Period/Era List Il: Name of the Unani Physician
A. Physician of Unani era I. Hakim Amanullah Khan

B. Physician of Mughliya era 1. Jalinoos

C. Physician of Arabic era Ill. Zakariya Razi

D. Physician of Rumi era IV. Bugrat

Choose the correct answer from the options given below
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[Question ID = 253]
1. A-IV,B-I,C-1ll,D-1

[Option ID = 1009]
2. A-lILB-1,C-1I,D-IV

[Option ID = 1010]
3. A-1,B-1,C-1V,D-1ll

[Option ID = 1011]
4. A-IV,B-1l,C-1,D-1ll

[Option ID = 1012]

14) Given below are two statements:
Statement I: Azaraqi detoxifies in the milk.
Statement II: Halelajat detoxifies in the Sirka.

In the light of the above statements, choose the correct answer from the options given below:
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[Question ID = 254]
1. Both statement | and statement Il are true / Lw cu=xo Y Ul ,gl ) ULy Ugigs

[Option ID = 1013]
2. Both statement | and statement Il are false / jwlale Y oly 9l ) Oly Ugigs

[Option ID = 1014]
3. Statement | is incorrect but statement Il is true / — guxo Y 0lu S o kle ) vly

[Option ID = 1015]
4. Statement | is correct but statement Il is false / _, ble ¥ uly S ) zu=o ) Uly

[Option ID = 1016]
15) Which one of the following is not prepared from Takhmeer and Ta'feen
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[Question ID = 255]

. Arq/ &,c [Option ID = 1017]

. Nabeez/ ;.o [Option ID = 1018]

. Figa'a/glss [Option ID = 1019]

. Darbahra/e,4,> [Option ID = 1020]
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16) Mawad ko rokne wala is the meaning of:
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[Question ID = 256]
1. Amroosiya/ Lwg ol
[Option ID = 1021]
2. Aflooniya/ Lsglsl
[Option ID = 1022]
3. Anqarooiya/ Lg,ssl

[Option ID = 1023]
4. Anoshdaru/g,laigl

[Option ID = 1024]
17) Johar Loban is prepared by

=t U WS ) A =S aeanaal e vlgJ 9>
[Question ID = 257]

. Amal Ta'seer/ nasi Joc [Option ID = 1025]

. Amal Tabkheer/ .2 Joc [Option ID = 1026]

. Amal Tas'eed/ .20 Joc [Option ID = 1027]

. Amal Tajfeef/ w o= Joc [Option ID = 1028]
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18) The chief ingredient of Kohal Chikni Dawa is

------ = vl 55> S clgs us> J=xs
[Question ID = 258]

Ghee/ _sgS [Option ID = 1029]

Fat/Charbi/ _su,> [Option ID = 1030]

Soap/ «»lo [Option ID = 1031]

Roghan Bedanjeer/ ,u=l oo €9, [Option ID = 1032]
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19) Match List | with List Il

List | List Il
IA. Abu Abbas Ibn Roomia |. Risala Maqala Fi Tarkeeb-al-Advia
B. Mohammad bin Khajandi Il. Dastoorul Advia-al-Murakkabah
C. Najeebuddin Samarqandi lll. Usool-al-Tarakeeb Fi-al-tib
D. Daood Ibn Abu Albyan IV. Usool-al-Tarakeeb
V. Al Bugiya Fil Advia al-Murakkabah

Choose the correct answer from the options given below:
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[Question ID = 259]
1. A-V,B-II,C-1ll,D-1IV

[Option ID = 1033]
2. A-1,B-V,C-1,D-1l

[Option ID = 1034]
3. A-I,B-1lI,C-1V,D-1l

[Option ID = 1035]
4. A-V,B-IV,C-1Il,D-1

[Option ID = 1036]

20) Which of the following is used as Raabta
A. Gulgand

B. Haloon

C. Khatmi

D. Roghan Bedanjeer

Choose the correct answer from the options given below:
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[Question ID = 260]
1. A, Band D only

[Option ID = 1037]
2. B, Cand D only

[Option ID = 1038]
3. A, Cand D only

[Option ID = 1039]
4. Band D only

[Option ID = 1040]

21) Given below are two statements:

Statement I: Kajli is the preparation that involves Sankhya, Para, Kasees and Gandhak.

Statement Il: The black colour of Kajli is due to the mixing of Para and Gandhak in Kharal.

In light of the above statements, choose the most appropriate answer from the options given below
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[Question ID = 261]

1. Both Statement | and Statement Il are correct/ su gu=o Ugig> ¥ ULy yol ) ULy

[Option ID = 1041]

2. Both Statement | and Statement Il are incorrect/ s lale Ugigs Y ULy H9l )V ULy

[Option ID = 1042]

3. Statement | is correct but Statement Il is incorrect/ —, ble Y vly S — cu=xo ) Uly

[Option ID = 1043]

4. Statement | is incorrect but Statement Il is correct/ — guxo ¥ Ulu S o ble ) vly

[Option ID = 1044]
22) The ‘Pharmacy Act’ came into force in the year:

LS LS 95V LS LSl amnnn)

[Question ID = 262]
1. 1947

[Option ID = 1045]
2. 1948

[Option ID = 1046]
3. 1949

[Option ID = 1047]
4. 1950

[Option ID = 1048]

23) Mixing of Oil and Water is which type of antagonism (Tanaquz)
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[Question ID = 263]

. Tanaquz Faeli/ (sJ=d ,28Ls5 [Option ID = 1049]

. Tanaquz Kaifi/ sa.S (a8l [Option ID = 1050]

. Tanaquz Suri/ s,g.0 ,a8Ls [Option ID = 1051]

. Tanaquz Keemyawi/ SglwouS ,a8L5 [Option ID = 1052]
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24) Which of the following drug is not included in Ibn Sina’s list of Cardiac medicine (Advia Qalbia)?

St U Jolis ad G pid S S M9l S Law (0l 19> aw LSS

[Question ID = 264]

. Ushna/ ~owl [Option ID = 1053]

Arjun/ o>l [Option ID = 1054]

. Daronaj aqrabi/ _su,sc gug,> [Option ID = 1055]
. Halela/ AL, [Option ID = 1056]

A W N -

25) Rijlultaer is the synonym of

S Oolyin S s bVl g,

[Question ID = 265]

. Atrilal/ J\u,bl [Option ID = 1057]

. Bisfayej/ zolew [Option ID = 1058]

. Samagh-e-Arabi/ su,c gouo [Option ID = 1059]
. Kateera/l,.S [Option ID = 1060]

A w N =

26) Match the List | with List Il

List | List Il

A. Convolvulaceae |. Aqargarha
B. Cruciferae Il. Aftimun

C. Compositae Ill. Todri Surkh
D. Caricaceae IV. Papita
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A. Convolvulaceae
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[Question ID = 266]

1.

A-1,B-1I,C-1I,D-IV
[Option ID = 1061]

2. A-1,B-1IV,C-1ll,D-I

[Option ID = 1062]

3. A-1IL,B-1I,C-1,D-1IV

[Option ID = 1063]

4. A-ll,B-Il,C-1,D-1IV

[Option ID = 1064]

Il. Ugowisl B. Cruciferae
. o S)>9i C. Compositae
V. niany D. Caricaceae

27) If there is increase in volume of distribution of drug in the body then

[Question ID = 267]
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28) Which of the drug is not of plant origin:

Half life of the drug remains constant/ sigs Luiw sy (599 Luo (Y VL) (saai wli> (S lgs [Option ID = 1065]

Half life of drug increases/_; sil=> 8% (wV BL) o wli> (sS lgs [Option ID = 1066]
Half Life of drug decreases/ __ (sil> g1 pS (Y BL) (saas wli> (sS lgs [Option ID = 1067]
Half Life of drug may increases or decreases/ — siS—w g2 03U b oS (Y BL) swas wli> (sS lgs [Option ID = 1068]

e U il l9d saw UsS
[Question ID = 268]

A wWw N =

Godanti/ _su>gS [Option ID = 1069]
Lajwanti/ _sug=>V [Option ID = 1070]

. Nagandbabri/ L 255 [Option ID = 1071]
. Ghongchi/ (s=S59pS [Option ID = 1072]

29) Which of the drug is of animal origin:

ft S o ilga> 19> suw UGS
[Question ID = 269]

AN w N -

. Maein/ .o [Option ID = 1073]

Kahruba Shamayi/ _ssouw UyuS [Option ID = 1074]

. Shakr Tighal/Jles ,Sow [Option ID = 1075]
. Hiran Khuri/ s,gS v, [Option ID = 1076]

30) “Khaya Iblees” is the synonym of:

S Odlyin S yuS gl wbs
[Question ID = 270]

A WN -

Kewda/o59.S [Option ID = 1077]
Karanjawa/eg=,S [Option ID = 1078]
Kaiphal/ J&5IS [Option ID = 1079]
Kahruba/ U,4S [Option ID = 1080]

31) Kuth is the synonym of:

S Wolyio 1S uS giS

[Question ID = 271]

1.

Semicarpus anacardium

[Option ID = 1081]

. Melissa parviflora

[Option ID = 1082]

. Emblica officinalis

[Option ID = 1083]




4. Saussurea lappa

[Option ID = 1084]
32) One “Misqal” weight is equivalent to:

cee et gy iy Jlio Sl

[Question ID = 272]
1. 2.5gm / plS 2.5

[Option ID = 1085]
2. 3.5gm/ 4,3 3.5

[Option ID = 1086]
3. 4.5gm / IS 4.5

[Option ID = 1087]
4. 5.5gm/ p,$5.5

[Option ID = 1088]
33) Ajwain Desi belongs to the family:

werd VLG S uund ilo>|

[Question ID = 273]
1. Rutaceae

[Option ID = 1089]
2. Apiaceae

[Option ID = 1090]
3. Brassicaceae

[Option ID = 1091]
4. None of these / s (5995 —w Lo VI

[Option ID = 1092]
34) “Anjdan” is:

- e VUlaxil

[Question ID = 274]
1. Oleo gum resin

[Option ID = 1093]
2. Oleo resin

[Option ID = 1094]
3. Gum

[Option ID = 1095]
4. None of these / juw (5995 —w Lo Ul

[Option ID = 1096]
35) Which Unani Physician born in the Greek city of Pergamon in Asia Minor (now Turkey).

Ss! 13 U0 Ug0uS s st iligs =S (S50 W) siile buinl 2Jlee ilgs Lw LS

[Question ID = 275]
1. Rhazes / sl

[Option ID = 1097]
2. Galen / jweidl>

[Option ID = 1098]
3. Hippocrates / bl,s,

[Option ID = 1099]
4. Aesculapius / jwgads wl

[Option ID = 1100]

36) Given below are two statements

Statement I: Any loss or abnormality of psychological, physiological or anatomical structure or function termed as
“Impairment”.



Statement Il: Because of an impairment, the affected person may be unable to carry out certain activities considered
normal for his age, sex, etc.is termed "disability"

In light of the above statements, choose the most appropriate answer from the options given below
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[Question ID = 276]
1. Both Statement | and Statement Il are False / g hble ¥ Oly jol ) Oly Ugigs

[Option ID = 1101]
2. Both Statement | and Statement Il are True / w cu=o ¥ Uluy ,9l ) ULy Ugig>

[Option ID = 1102]
3. Statement | is True Statement Il is False / ble Y uly S ) pu=xo ) Ulu

[Option ID = 1103]
4. Statement Il is True Statement | is False / kle ) ulu S ) cuxo Y Uly

[Option ID = 1104]
37) "Treatment 2.0" initiative, launched by WHO is related with

St il —w UuiS Juw Yoo Caiols i 03)S £ S 9l 2ul glud

[Question ID = 277]
1. AIDS / Gwiyl

[Option ID = 1105]
2. COVID-19 / 14 5965

[Option ID = 1106]
3. Diabetes / gulauld

[Option ID = 1107]
4. Malaria / Lydo

[Option ID = 1108]

38) Biological (Water-borne diseases) caused by the presence of an infective agent

Match List | with List Il

List | List Il

Agent Disease

A. Viral I. Hepatitis E

B. Bacterial Il. Typhoid

C. Protozoal Ill. Giardiasis

D. Leptospiral IV. Weil's disease

Choose the correct answer from the options given below:
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[Question ID = 278]
1. A-,B-Il,C-1I,D-1IV

[Option ID = 1109]
2. A-1,B-1l,C-1,D-IV

[Option ID = 1110]
3. A-IV,B-1II,C-1I,D-1

[Option ID = 1111]
4. A-1,B-IV,C-1I,D-1l

[Option ID = 1112]
39) The cause of high birth rate

- 19 S T 0L Yikildw i

[Question ID = 279]

Low standard of living / (sS155 ,liee ~iswy [Option ID = 1113]
Early puberty/ «iegl, al> [Option ID = 1114]

. Early marriage/ «sslw al> [Option ID = 1115]

. All of the above/olos VU 0,55 30 [Option ID = 1116]

A W N -

40) This pill is commonly referred to as "minipill"

et Ul WS Ji w0 52 09b ple 95 JsS uwl

[Question ID = 280]

Combined pill/ (JsS AS yixino [Option ID = 1117]

Progestogen only pill (POP)/ sy ol <su) Jo esbbl ou> giu>g,,) [Option ID = 1118]
. Post-coital pill/ J, J%9S Ewgs [Option ID = 1119]

. Male pill/ J; Juo [Option ID = 1120]

A w N =

41) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : In Plenum Ventilation fresh air is blown into the room by centrifugal fans.
Reason R : Plenum Ventilation creates positive pressure and displace the vitiated air.

In light of the above statements, choose the correct answer from the options given below

et LS LS )l Uju)y 95 e gl el iyl 85 SOl cpw WUl 95 Lo Jud
vt Ul LS U315 Gao ¢ 00S 95 197 05U asyd =S LSty JS9a9 Syl a0 i) (suiing pindy teel it ponw]
et IS AT 5S 9y 039590 —w LWl 18l o S 1w SUD Caio utindd g pindy D Uy

sy Ulg> tuseo —w e Wlisow Jud 205 uae g S Wlle YU A 2ie:

[Question ID = 281]
1. Both A & R are True and R is not the correct explanation of A/ — U)S Luw wlog puxo S | ol j9l w euses )l )9l | Ugigs

[Option ID = 1121]
2. Both A & R are True and R is the correct explanation of A/, U,S wslog puxo S | ol jol G cuxo )l jol | Ugigs

[Option ID = 1122]
3. Both A & R are False/ jw ble T jol o | ugig>

[Option ID = 1123]
4. Ais True and R is False/kle I ol o puxo |

[Option ID = 1124]
42) Residents of mountain region belong to the following

—- PS) GBI —w D Al i) =S uedle Sl
[Question ID = 282]

. Masakin Ghayrah/e,ile ,SULuw [Option ID = 1125]

. Masakin Hijriyah/ s> ¢,SLuwe [Option ID = 1126]

. Masakin Bhairyah/ 4 SULww [Option ID = 1127]

. Masakin Aliya/ ~dle ,SLuwo [Option ID = 1128]

AN wN -

43) This water is beneficial for liver & spleen and also advantageous in Ascites

et i = =S sliniawl y9l o e W S Jlxb 9l JS> b
[Question ID = 283]

1. Ma-e-hadidya/ ~yaya> <o [Option ID = 1129]

2. Ma-e-nihasyaa/ awls slo [Option ID = 1130]



3. All of the above/oloi VU 0,95 30 [Option ID = 1131]
4. None of them/ s sisS VYU 0,930 [Option ID = 1132]

44) Exercise that is done with the intention and purpose to get the desired benefits NOT includes:

et Ut SOl o ot I S S =S TS Sl VleS welbo gil S o3Ll ugl Mo 9 pund S ol

[Question ID = 284]

Riyazat Zatiya/ ~il> woly, [Option ID = 1133]
Riyazat Khalisa/ ralls> usly, [Option ID = 1134]
. Riyazat Khassa/ nol> sl [Option ID = 1135]
Riyazat Arziya/ o e <ol [Option ID = 1136]

A W N -

45) Which is the thickest boundary of the orbit?

St ati9S )1925 Ulad > S Ul o
[Question ID = 285]

Lateral/ (six>g [Option ID = 1137]

Medial/ (sl [Option ID = 1138]

. Roof/cp=> [Option ID = 1139]

. Floor/ 4,8 [Option ID = 1140]

A W N -

46) Which of the following structure does not pass through foramen magnum?

St NS U = b i Gl aigS Uao D ~>pdio
[Question ID = 286]

Accessory pharyngeal artery/sly (sal> ol o [Option ID = 1141]

Vertebral artery/ s,5% ul,,.w [Option ID = 1142]

. Spinal accessory nerve/xl; (sclss 0l [Option ID = 1143]

Vertical band of cruciate ligament/au Ssgoc S (sunbo b, [Option ID = 1144]

A w N =

47) Which of the following is an example of elastic cartilage

S Jlo S U o Vgt U9S —w o D A>)dio
[Question ID = 287]

1. Trachea/ ~d,Jl Anad [Option ID = 1145]

2. Intervertebral disc/ @l ssll ¢ 0,8 [Option ID = 1146]

3. Epiglottis/aslg) [Option ID = 1147]

4. Thyroid cartilage/ (s9,> g ac [Option ID = 1148]

48) The first cervical vertebra has all of the following except:

low = Ugs 59590 G —aw a0 15 rodio paolgl (niicd a9:
[Question ID = 288]

Lateral masses/ 555 gl [Option ID = 1149]

Foramen transversarum/ ~o,siiwe ~é5 [Option ID = 1150]

. Anterior arch/pa80 (wgd [Option ID = 1151]

Spinous process/ aSgi 0515 [Option ID = 1152]

A WN -

49) Which of the following arteries supply the fundus of the stomach?

St WV UNI9N 590 (5S 0420 ELB —w S o Uil D o) dio

[Question ID = 289]

. Right gastric artery/ roul Sasoe UL, [Option ID = 1153]
Splenic artery/ sJlxb ol .o [Option ID = 1154]

Short gastric arteries/ o,uad Sase Gul i [Option ID = 1155]
Gastroduodenal artery/ s ,.uclil Sasoe UL, [Option ID = 1156]

AL'JN—\

50) Foot drop is due to injury of:

[Questlon ID = 290]

Common peroneal nerve/ AS yixiwo Sghai wuac [Option ID = 1157]
Superficial peroneal nerve/ s ylb Sghhis wuac [Option ID = 1158]
Femoral nerve/ ;%8 wuac [Option ID = 1159]

Tibial nerve/ _swad ac [Option ID = 1160]

AWN—\

51) Intramuscular injections in upper and lateral quadrant of gluteal region are given in:

Sum T > VLS o nb> igsw 9 VU =S well BME sl Y gasiwol il

[Question ID = 291]
1. Glutei maximus and minimus/eu2s 9 reuhc ngll wMac [Option ID = 1161]

2. Gluteus medius/ Albwgio ~ngll Alac [Option ID = 1162]



3. Glutei maximus and medius/ Abwgio 9 ~oshhc mgll WMac [Option ID = 1163]
4. Gluteus maximus/ roudac ~gll Alac [Option ID = 1164]

52) Inisometric contraction the length of muscle fibre

----- wlo) S bgas whas pao Yo il Syduo gunil

[Question ID = 292]
1. Increase/ — il>a%
[Option ID = 1165]
2. Decrease/_; (sil> &S
[Option ID = 1166]
3. Remain same/Ugs G 3% (sS) = vy o> SUl)

[Option ID = 1167]
4. None of the above/ sy 5595 —w Luo YU A> 20

[Option ID = 1168]
53) Which of the following is not abnormal hemoglobin derivative:

St U S5 b el S Pl 60> uw USS —w e oS 200
[Question ID = 293]

Sulfhemoglobin/ el é,0> lw) GwslSeown wlw) [Option ID = 1169]
Carboxyhemoglobin/ el 80> (sowSes,S) HwslSgos (sawSes,lS) [Option ID = 1170]
. Ferrihemoglobin/ el 60> S,.8) w9lSson S,9) [Option ID = 1171]

. Reticulocyte/ mSici ads) EslwglsS (s&)) [Option ID = 1172]

A w N =

54) Dysbarism is due to:

St Uss —w n>9 yuiS g

[Question ID = 294]

Change in temperature/ _slawi o w,l> ~>,> [Option ID = 1173]
Gravitational force/ (sJ&i juainS S o [Option ID = 1174]

. High barometric pressure/ sisb; S §Us S (slgs 8,S [Option ID = 1175]
. Low barometric pressure/ (oS (S §Ls S silgs 8,5 [Option ID = 1176]

A w N =

55) Oxygen-hemoglobin dissociation curve is sigmoid shaped. If this curve is shifted to right, this means

3 A0 95 b o0 Jitiio Oy swld s a )| .o ligy puo JSai (3805w) bSw b 1S 31,81 S pal 6,05 9 pusti
S Uss LS o

[Question ID = 295]

Excess of 2,3-diphosphoglycerate in RBC/ (si5L; (S s MSgawld (315 Yo¥ Lo 0,0> wl,S [Option ID = 1177]

Decrease in partial pressure of oxygen/ oS Lo §U> Sgy> S puws [Option ID = 1178]

. Increase in body temperature/ sisU; o w,l> A>)5 silowws [Option ID = 1179]

. All of the above/ploi YU ~>,150 [Option ID = 1180]

AW N =

56) Ability to speak is linked to which of the following

[Question ID = 296]

Brocas Area/ il 589, [Option ID = 1181]

Occipital Lobe/ ,>§0 3> S ¢ o> [Option ID = 1182]

Basal Ganglia/ WSS Jow,s[Option ID = 1183]

None of the above/ s 3995 —w Lao YU A>,20 [Option ID = 1184]

A W N -

57) Tardieu's spots are seen in:

Suw S =pS0> S Ul 945,6

[Question ID = 297]

Death from gunshot injury/ wge —w p3>; —S B9 [Option ID = 1185]
Death from asphyxia/wgo ——w LI [Option ID = 1186]

Death from starvation/ wgoe ——w 318 [Option ID = 1187]

Death from cold/ wgo —w Xips [Option ID = 1188]

A W N -

58) Which of the following is universal antidote.

St Lw U9S QUi 3uS oy —w Uao 1D nor) 20

[Question ID = 298]

1. Mixture of charcoal and copper sulphate/owol IS Eualw uIS 9l JgS, = [Option ID = 1189]
2. Mixture of charcoal and ferric chloride/ ool S Xl,9)S S,.9 59l JsS, = [Option ID = 1190]
3. Soap/ ulo [Option ID = 1191]



4. Mixture of charcoal, tannic acid and magnesium oxide/ o0l IS X5LwST puinsiSio 9l Sowul Siyd «JgS,l> [Option ID = 1192]
59) When does Saue Mizaj occurs?

¢ = Usy 9>V &S 2o g

[Question ID = 299]

1. When there is an imbalance in Akhlat / __l> 35, Ojlgs S bMs| > [Option ID = 1193]

2. Due to the disturbance in Kaifiyate Arba / —l>9 3>V J3> Guo ~suyl wlauS [Option ID = 1194]

3. The above both the condition occurs in the body/ s —igs b wlowl Ugigs VU A>,3i0 > [Option ID = 1195]
4. It happens due to the Khalal e Shikam /_, Ugs pSio J> <> [Option ID = 1196]

60) From the following which kaifiya't are called "kaifiya'at e Fayela"?

T U LS "Aheld Oluins™ 95 OlustnS (swaiinS o Jud n>)io
[Question ID = 300]

Harata o Ratubat /wugb, 9 w,l,> [Option ID = 1197]

Hrarat o Yabusat /<wgw 9 w,l,> [Option ID = 1198]

Ratubat o Yabusat / <iwgwy 9 wugb, [Option ID = 1199]

Hararat o Barudat /wsg, 9 w,l,> [Option ID = 1200]

A w N =

61) With reference to Aa'za, Quwa & Af'al how many types of Rooh existed?

o PLudl (uiS (S 29) —w bl S Jledl g Sgd slacl
[Question ID = 301]

. One/ &yl [Option ID = 1201]

. Two/gs [Option ID = 1202]

. Five/zul, [Option ID = 1203]

. Three/ o, [Option ID = 1204]

A WN -

62) As per the defination the ustuqussat (Anasir ) are ..?

S plw] s (wolic) Uil —w bl S =i
[Question ID = 302]

Jamid /»l> [Option ID = 1205]

Sayyal / Jlw [Option ID = 1206]

. Rihi / s=y, [Option ID = 1207]

. Munfarid / 4o [Option ID = 1208]

A W N -

63) What is the last stage of Hazm?

St US Usio S5l oS "puty

[Question ID = 303]

. Food reached inside the liver/ Ly uuo ,S> (S <lic [Option ID = 1209]

. Undigested food excreted from the body/Ugs 2,5 —w pow> S clie  gpb ,ue [Option ID = 1210]
. The Khilt becomes Johare Uzu /U gac 9> (S bl [Option ID = 1211]

. Production of Khilt in the liver/ Ly S bl (.0 ,S> [Option ID = 1212]

A W N -

64) To whom does the following statement regarding the Mizaj belongs:

Lo giionll e Blbl )ao0 9 9 21l

fet U LS Lgamin Wil 0SS yuiS Jgd b 2,0 §hsie —w glio
” ilxo giiowll e Blbl 000 9d 9 2lioll «

[Question ID = 304]
1. Ibn Sina/luw 0l

[Option ID = 1213]
2. Abu Sahl Masihi/ sxswio Jiw o1l

[Option ID = 1214]
3. Ibn Rushd/aw, ¢l

[Option ID = 1215]
4. Allama Nafis/ juusss ~oMe

[Option ID = 1216]
65) The theory of three elements was formulated by a group of philosophers that is known as:
St Ul U o anin> S 95 uwl LS Uiy i 0905 pa> =S ntw M aipdai IS olic (i

[Question ID = 305]
1. Ashab-e-Khlit/lads ol=ol [Option ID = 1217]



2. Mashshayeen/ :.liwo [Option ID = 1218]
3. Ahl-e-Akseer/ S| il [Option ID = 1219]
4. None of these/ ,uw (5995 —w o5l [Option ID = 1220]

66) In which disease Qai (Emesis) is contraindicated?

St E9400 ULS =9 Uao Uose s 200
[Question ID = 306]

Istisqa/ slawswl [Option ID = 1221]
sara/ ¢ o [Option ID = 1222]

. Mufrit farbahi/ _suv,% b a0 [Option ID = 1223]
Rasha/ ~uuc, [Option ID = 1224]

A wWw N =

67) Which therapy(tadbeer) strenghtens the effect of diuretics(Mudirrat)?

St WS S99 95 Joo =S WhAo jwdi ww UsS
[Question ID = 307]

. Tabreed jild/al> 1,5 [Option ID = 1225]

Pashoya/ ~gwly [Option ID = 1226]

. Inkebab/ LSS [Option ID = 1227]

. Bakhoor/,s= [Option ID = 1228]

AN wN -

68) Which of the following option will be the appropriate technique in case of excessive morbid material(kasrat-e-mawad)?

St i Judi uw USS Uad )90 S Dlgo LSS Uao 8L S
[Question ID = 308]

Fasd before Hijamah/ rolee> gy 229 L [Option ID = 1229]

Hijamah before Fasd/aad ,p; ~ols> L4y [Option ID = 1230]

Dalak before Hijamah/ rolx> ,p; SJ> L [Option ID = 1231]
Hijamah-e-nariyah/ ~,U ~ols> [Option ID = 1232]

A WN -

69) Advantages of Istifragh through emesis(qai)?

.- M99 =S 9 Avy El il

[Question ID = 309]

. Taqwiyat-e-Jigar/,S> <ugés [Option ID = 1233]

. Tagwiyat-e-Sadar/ a0 wugsi [Option ID = 1234]

. Taqwiyat-e-Ama/ sleol wugsi [Option ID = 1235]

. Taqgwiyat-e-Basarat/ w,lay wygssi [Option ID = 1236]

A W N -

70) Excess of which type of food items causes tasahul and takahul (Lethargy) in body?

St Ugy law J1S0 )9l 1l o puns> —aw OES S LlAe oS
[Question ID = 310]

Tasteless (phika) food items/ nicl (sSugy [Option ID = 1237]

Sweet (shirin) food items/ i<l o i [Option ID = 1238]

. Sour (Tursh) food items/ nicl Lwyi [Option ID = 1239]

. Salty (Namkeen) food items/ nicl uSes [Option ID = 1240]

A w N =

71) Which regimen is given priority in Acute fevers?

S Sy AL 9S,md S Uae 031> Ul
[Question ID = 311]

Istifragh-e-madda/esbe ¢lyeiwl [Option ID = 1241]

. Taskeen-e-hararat/ w,l,> (.S [Option ID = 1242]

. Tasfiya-e-dam/p> ~wa.05 [Option ID = 1243]

. Tadheen/ ;.35 [Option ID = 1244]

A w N =

72) Madda-e-Niqris is derived from which source?

et Liv —w UlS yw i odlo

[Question ID = 312]

Hazm-e-Kabdi/ .S puay [Option ID = 1245]
Hazm-e-Uzwi/ Sgac puay [Option ID = 1246]

. Hazm-e-Arbaee/ _ss,| oy [Option ID = 1247]

None of the above/ s (5995 —w ool [Option ID = 1248]

A WN =

73) First line of treatment in Ascites is?

Sun oS 3195 LS v = waw yy y9b =S 2Me o 59 sl

[Question ID = 313]
1. Dietary salt Restriction/ oS _uo Sws solic [Option ID = 1249]



2. Diuretics/ wl,as [Option ID = 1250]
3. Paracentesis/ juawuiaw |,4 [Option ID = 1251]
4. Shunt/ oo [Option ID = 1252]

74) Left ventricular hypertrophy is caused by all, except:

9w (et Caw 5 Joe S Gy Wb
[Question ID = 314]

. Mitral stenosis/ ;uwl,Jlgd 825 [Option ID = 1253]

. Aortic stenosis/ _sb,gl _s.ai [Option ID = 1254]

. Mitral regurgitation/ ¢uwl,Jlgs ¢ =s,l [Option ID = 1255]
. Aortic regurgitaion/ _sb sl ¢ i,| [Option ID = 1256]

AW N =

75) Most common complication of acute Pancreatitis?

et UPII9E PlE i S L IR 0,9
[Question ID = 315]

Pancreatitic Abscess/ wl,45L ALus [Option ID = 1257]
Pseudocyst/ u3lS ~wuS [Option ID = 1258]

Phlegmon/ ugoeslall [Option ID = 1259]

Pleural Effusion/,xall zu8 [Option ID = 1260]

AN wN -

76) Which sue-mizaj is found in Bars (Vitiligo)?

S Ugr >V 2lio s9uw Lw LSS a0 yo
[Question ID = 316]

Sue-mizaj Haar Ratab/ b, ,l> zlyo sg.w [Option ID = 1261]
Sue-mizaj Barid Ratab/wb, 5,L zl30 sg-w [Option ID = 1262]
Sue-mizaj Haar Yabis/ b ;> zl30 cgw [Option ID = 1263]
Sue-mizaj Barid Yabis/ sl 5,bL zl0 sgow [Option ID = 1264]

A WN -

77) Which of the following condition leads to exudative pleural effusion?

S o> Aed U =S bl )aadl 2ud > (suw USS Lo D a>)dio
[Question ID = 317]

Cirrhosis of liver/ausJl .l [Option ID = 1265]

Nephrotic syndrome/ g, 5w 39,20 [Option ID = 1266]

Congestive heart failure/ s\l w8 lasw [Option ID = 1267]

Bronchogenic Carcinoma/ ~,Jl i b, [Option ID = 1268]

A W N -

78) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Levity headache (Sudai khiffa) is commonly seen in women during puerperium.
Reason R: Because main cause of Levity headache is dryness

In light of the above statements, choose the correct answer from the options given below

vt WS LS )T Uy 95 caw9d ol el gyl 95 SUl G WUl 95 o Jod
vt UsS 197 Ul9s =S ywlis o Ugi 9e »i 03U na> Elao tel Guirpuwl

reed g uw ple S avs glao aSiguS 1)l Uy

U Wl9> tuxo —w o WLSow b 255 uae gy S WLl YU Ao

[Question ID = 318]
1. Both A and R are true and R is the correct explanation of A/, U,S w>log caw)> oS 21,1 )9l L guso Ugigs Tyl |

[Option ID = 1269]
2. Both A and R are true but R is NOT the correct explanation of A/ U)S s wslog cow)s (oS | )T oS G 2useo ugigs )l ol |

[Option ID = 1270]
3. Ais true but R is false/ _ kle 1 SJ o cuxo |

[Option ID = 1271]
4. Ais false but R is true/ — puso )l S o ble |

[Option ID = 1272]

79) Given below are two statements
Statement I: Cause of Anasarca is weakness of liver function and its coldness.
Statement Il: Anasarca is not a type of Ascites.

In light of the above statements, choose the most appropriate answer from the options given below



o 20> Wlly 9> Lo Jd

e U39 S 2l —Swl Lol ano 1S 'Sed (5S 1S wuw 1S pole sliwiwl 1) Ul
ceed U paasd (S sliiow| aole sliswiaw! (T Ul

iy Ulg> tusuo —w uao WlisSewn Jd 25 uae gy oS WUl YU a>) e

[Question ID = 319]
1. Statement | is correct but Statement Il is incorrect./ —, ble Y uly S — cu=o ) Uly

[Option ID = 1273]
2. Statement Il is correct but | is incorrect./ — kle ) uly S ) uxo ¥ UL

[Option ID = 1274]
3. Statement I& Statement Il both are correct./ su gu=o Ugigs Y ULy 9l V ULy

[Option ID = 1275]
4. Statement I& Statement Il both are incorrect./ s ble Ugigs Y Ul ol ) Ul

[Option ID = 1276]

80) Match List | with List Il

List | List Il

A. WARDEENAJ I. Cornea

B. WADQAH Il. Eyelid

C. BAYAZ Ill. Conjuctiva
D. BAMNI IV. Retina

Choose the correct answer from the options given below:

WS VMo —w ¥ Cd S) Cnd:

Y S ) S
i )9 .| D)9 A
o .lI 959 .B
rocaido I wol .C
aSaais IV ol .D

us> Vlg> puxo —w uao WhiSow U A>)0in:

[Question ID = 320]
1. A-,B-I,C-1I,D-1IV

[Option ID = 1277]

2. A-1l,B-1,C-IV,D- 1l
[Option ID = 1278]

3. A-IV,B-1I,C-1,D-1l

[Option ID = 1279]
4. A-11L,B-1V,C-1I,D-1

[Option ID = 1280]
81) According to Ibn Sina, first stage of Humma-e-Diq is?

T S LS 95 )0 v =5 8> o> Wilbo =S Lo vl
[Question ID = 321]

. Zubool/ Jg,5 [Option ID = 1281]

. Dig/ > [Option ID = 1282]

. Mufatit/ c.zae [Option ID = 1283]

. Muhashif/ wu=o [Option ID = 1284]

A WN -

82) In Parkinsonism, what is not present:

St Ul LU i S o puaiS)l yo 0
[Question ID = 322]

1. Tremor at rest/Ugs axinc, 89 S wgSiw [Option ID = 1285]
2. Past Pointing/U,S (svlis S swolo [Option ID = 1286]



3. Bradykinesia/ Ugy caww il Gao 3, £9,mi (wS,>) oS [Option ID = 1287]
4. Muscular Rigidity/ Ugs ( sszew) woMo Gao wMac [Option ID = 1288]

83) In which type of headache, the head feels very hot but very light?

Usr uaid JSIU g90 1S v Uigy bl 1S (5w0)S s o Jaw Uad punid guiS o5\S Eldo

[Question ID = 323]
Suda-e-Damvi/ Sgo> ¢las [Option ID = 1289]
Suda-e-Safravi/ Sgl,e.0 glao [Option ID = 1290]
. Suda-e-Balghami/ sl glao [Option ID = 1291]
. Suda-e-Sodawi/ Sglsgw glas [Option ID = 1292]

A W N -

84) Which type of Malankholia is associated with Junoon.

S Usy Shuuio Ugix pao puwd guiS S Wsllo
[Question ID = 324]

Sauda Balghami/ _swsls I5gw [Option ID = 1293]

Sauda Safravi/ gl eo Isgw [Option ID = 1294]

. Sauda Saudavi/ sglsgw 59w [Option ID = 1295]

. Sauda Damvi/ Sgos Isgw [Option ID = 1296]

A W N -

85) Intisabi is recommended treatment for which of the following disorder:

ft Wb S e S =S 2Me S uose uaS oS 200 weladl
[Question ID = 325]

Faalej/ zJ [Option ID = 1297]

Zeuf e meada/osso oo [Option ID = 1298]

. Hassatul kuliya/ ~dS wla> [Option ID = 1299]

. Zeequnafas/ juaidl (3.0 [Option ID = 1300]

A w N -

86) Zubha Sadriya is related to which of the following:

St Blmio —w UuS U0 D 205 o nd
[Question ID = 326]

1. Pleura/ ~,Jl <Laue [Option ID = 1301]

2. Pulmonary embolism/ gy, slacwsl [Option ID = 1302]

3. Coronary Artery Disease/ _sJuS| Ol i Lol ol [Option ID = 1303]
4. Valvular Heart Disease/ wJdd wlolowo ol yol [Option ID = 1304]

87) Sooul Qinniya is always associated with which of the following:

St by ricanly risaoy il =S S it sgaw

[Question ID = 327]

Zoufe Jigar/,S> wso [Option ID = 1305]

Ascites/ slub slawwl [Option ID = 1306]
Anasarca/ swgoc slawwl [Option ID = 1307]

. All of the above/plos VU A>,30 [Option ID = 1308]

A WN -

88) Humma Maeviya (Enteric Fever) is which type of the following:

St Ugy S putd guuS —w a0 D n>)di0 g0 0>
[Questlon ID = 328]
Humma Mufatra, Muaziba and Matbaqa/ rsuao g aublgo ¢ 0,000 (50> [Option ID = 1309]

Humma Matbaqga and Muaziba/ ablge 9 ~dudao (s> [Option ID = 1310]
Humma Matbaqga, Lasqa and Damviya Afooniya/ rugec ngos g aésl « adnbao s> [Option ID = 1311]

Humma Matbaga and Damviya Afooniya/ augec ~gos 9 adubao (s> [Option ID = 1312]

AWN—\

89) Nuskha Gariussamak is recommended for which of the following:

Cet U LS juoxi J S o0 yuS Souddl S8 e
[Questlon ID = 329]

Bronchial Asthma/ _sussi el 3.0 [Option ID = 1313]
Tuberculosis/ gy, B> [Option ID = 1314]

. Paralysis/ zJ1 [Option ID = 1315]

. All the above/ploi VL A>,0 [Option ID = 1316]

AWN—\

90) Non-bullous Impetigo is which of the following disease:

":¢=?9§'i=‘“°! uds UL UgS —w o Jid oo
[Question ID = 330]

1. Fungal/ J5é [Option ID = 1317]

2. Autoimmune/ ug.ol o551 [Option ID = 1318]



3. Bacterial/ J,,.S [Option ID = 1319]
4, Atopic/ Syesl [Option ID = 1320]

91) Bowen s Disease is related to which of the following:

St = S w0 D o dio Bl 1S S Guge
[Question ID = 331]

Liver Diseases/ S yol,ol [Option ID = 1321]

Kidney Diseases/ ~JS uaol,ol [Option ID = 1322]

Skin Diseases/al> (ol ol [Option ID = 1323]

Haematological disorders/ ug> Lol 0l [Option ID = 1324]

A W N -

92) ECG in prinzmetal angina shows:

et U0 95 Wil Jiao o0 a0 > o S|
[Question ID = 332]

. ST-segment elevation/,lgl IS 3> (&5 yuwl [Option ID = 1325]

. ST-segment depression/Ugy 1S S 3> (s yuwl [Option ID = 1326]
. Absent P wave/ sS59>90 ,u& sS 919 s [Option ID = 1327]

. Prolonged PR interval/ Ugy 5,5 IS ~a89 1 sy [Option ID = 1328]

A W N -

93) Which of the following is not a feature of nephrotic syndrome:

St Ui oMe S g Sigpiui USS —w uao 4D n>pdio
[Question ID = 333]

. Peripheral oedema/ Loy$l J3u9 s, [Option ID = 1329]

. Microscopic Heamaturia/ b jgzeou SugSow 9,55l [Option ID = 1330]

. Hypoalbuminaemia/ 4o gJI 5L [Option ID = 1331]

. Proteinuria >5gm/ day/0 U, 05b; —w 39, 59 ol,S [Option ID = 1332]

A w N =

94) SARS is called a zoonotic virus because

rSS9sS et Ul LS Ywiils SUgig) ul 95 (uwolaw) panl )l el panil:

[Question ID = 334]

1. These viruses are confined to animals/ — Ly, 3930 S Ug,95l> Lw,ilg Ay [Option ID = 1333]

2. Do not cause disease to animals/ —; Ugs Guw waw IS o0 ao Lg 95l [Option ID = 1334]

3. Emerge from animals to cross the species barrier infrequently./ __ Ul g0 Jsiio Lo €95 o powed (S S 5S ol —w U9, 951> A [Option ID = 1335]
4. They cause pandemics/ —; Ugs wuw (S by ~ [Option ID = 1336]

95) Cleft lip ideally repaired at?

St U LS Uao pos paiS logas 2Me 1S () wls) asuidl Ggsuino
[Question ID = 335]

Soon after birth./as 1,98 S Jwslaw [Option ID = 1337]

06 wks-12 wks./# aie) \Y —w niay [Option ID = 1338]

12 wks-24 wks./\Y iy YY —w Aisy [Option ID = 1339]

24 wks-36 WKks./YY aiay Y —w ~igy [Option ID = 1340]

A WN -

96) Which of the following is the least common position of appendix?

St Ul Ll oS —w wuwiy plite guiS d aorydio (uuSiiwl) ys<l
[Questlon ID = 336]

Retrocaecal./ JSuw 9,%, [Option ID = 1341]

Retroileal./ J.bl 9,%, [Option ID = 1342]

Preileal./ Jubl s,y [Option ID = 1343]

Pelvic./ Sgly, [Option ID = 1344]

AWN—\

97) Griesingers signh means?

St S0 LS —w il gwySiaw S,

[Questlon ID = 337]

Pain over the temporo-mandibular joint./s)s ygl S Jou Xiuo 9,9.045 [Option ID = 1345]

Pain in the eye./s,> a0 £SST [Option ID = 1346]

Pain and tenderness over the mastoid./w.Jss 5y 5Us jgl 5,5 el S SSgkuun [Option ID = 1347]
Pain and tenderness over the auricle./ «wdSs ,» SU> jgl 5,5 ol —S JS,41 [Option ID = 1348]

AWN—\

98) I. Hydrocele fluid is amber colored and sterile, which contains albumin and fibrinogen, if the contents of a hydrocele
are allowed to drain into a collecting vessel it does not clot.

Il. Hydrocele fluid is amber colored and sterile, which contains albumin and fibrinogen, if the contents of a hydrocele are
allowed to drain into a collecting vessel it coagulates if it is mixed with even a small quantity of blood.



WSI gl (o Uy 59590 (a9 149 yol Guogall Lo Ua>r (ot gy I —w M y9l Spumic Si) S 3o IS Ailo Ald 2} Ul
et Ui o> v 95 > VST ao Ok (S oS odlo

WSI gl (o Uy 59590 (a9 149 yol Gaogall Lo U (ot gy I —w MR y9l Spmic Si) S 3o IS Ailo Alkd :TULY
et VY Yol 5 S U9S uao uwl gl =t Ul pr 95 T VST o Bk S oS odlbo

[Question ID = 338]
1. Statement | and Statement Il both are correct./ s gu=o Ugiss T ULy ! )} vl

[Option ID = 1349]
2. Statements | and Statement Il both are incorrect./ s ble Ugigs Y Ul J9l V Uly

[Option ID = 1350]
3. Statement | is correct but Statemennt Il is incorrect./ — lle Y vlu S o cu=o ) Ol

[Option ID = 1351]
4. Statement | is incorrect but Statement Il is correct./ — cu=o Y Ulu SJ o kle ) vl

[Option ID = 1352]

99) Match List | with List Il

List | List Il

A. A 30 years old male patient complains of painless swelling in his
scrotum, progressively increasing in size but there is no history of

Filariasis

trauma.

B. A 30 years old male patient complains of swelling in his scrotum 1.
increases on straining and decreases on lying down. Hydrocele
C. A 55 years old male patient complains of progressing swelling of his

lower limbs associated with painless enlargement of his scrotum but no [lll. Hernia

history of trauma.
D. A 30 years old male patient complains of swelling in his left scrotum. v
On examination the left scrotum is found to be lower then the right side |,
and there is no history of trauma.

Choose the correct answer from the options given below:

Varicocele

Y Cdd ) Cadd

Lot Ly D3 uao px> pangl 95 CulSui S 9w o (Usb9d) o jus =S 5,5 S yauo S0 Alw Yo Sl LA
T = ua Dldg) S Lo S

A Ll Dol o U dy 0 S ) pao s ol oS 09w uao (Usbe9) oo S yauo >0 Adlw Yo Sl LB
o vt U 91 pS 0 i)

8 I =S 35> U0 (Usbgd) o gl =S Y CulSi S U9 Vlg —id i s UIL S yauo 30 Alw 00 Sl .C
-9 I 5990 dldg) &S L9 y9l 91 U9 Jas

Wled LIV g 1S wils Gl )S Ulinol il S G>9aw il il uao (Abg9) o yauyo )0 AJlw Yo Sl .D
o Loy i 3990 dIdg, S Ggxrygl LS LU i lie S uil> (abgS)

> V9> tuxo —w uao Wlisow Jd 2yt

[Question ID = 339]
1. A-1,B-IvV,C-ll,D-1

[Option ID = 1353]
2. A-lLB-1,C-1,D-1V

[Option ID = 1354]
3. A-1l,B-1I,C-1,D-1IV

[Option ID = 1355]
4. A-IV,B-1I,C-1,D-1ll

[Option ID = 1356]
100) Which of the follwing statement regarding triage is false?
S ble Ul Lw ugs b 2> Wleio —w 2wl

[Question ID = 340]
1. Triage means treating the most seriously injured first./_, U,S _Lv gMe S (s 22 sl —w awil,s [Option ID = 1357]



2. Triage is carried out where the casualities are found./ .l> g7 (s Sol (S gils Sul &S > s Ul LS Joc wdy Gl 5y zwil,s [Option ID = 1358]

3. Triage is carried out at the same time as simple emergency life saving procedures./gilw gilw S ,uly S Sl Uls 9l 2Me (o0l Joc 5 2wilys
-— Ul LS [Option ID = 1359]

4. Triage does not mean that a patient's triage catagory can not be reviewed./ > LS G 90U b 50 a5 2wy oS v AS 0 o e sho —w auilys
- LS_w [Option ID = 1360]

101) Match List | with List Il

List | List Il

A. Rectal prolapse. I. Altemier's treatment.

B. High Anal fistula. Il. Stapled Anopexy.

C. Grade 3 piles. lll. Glyceryl trinitrate.

D. Preliminary treatment of anal fissure. IV. Lateral internal Sphincterotomy.

Choose and match the correct operation with each of the condition given below:

T Cod ) ot
Cuiao Sy ywpaoudl usadoy S, A
auSygil Uadiwl I Voiuwd Jul Vb .B
Sl ilyi JpandS NI JEL Y 4,5 .C
50959 kS| Jiplil Joda) IV puind Jiul Sl Cuiwo Cu i Spiodsy D

> Vle> guxo —w g0 wlisown Jud 2)2:

[Question ID = 341]

1. A-l,B-1,C-1l,D-1IV
[Option ID = 1361]

2. A-IV,B-1,C-1,D-1ll
[Option ID = 1362]

3. A-I,B-1I,C-1V,D -1l

[Option ID = 1363]
4. A-11,B-1V,C-1II,D-I

[Option ID = 1364]

102) A 35 years old male attended with painless haematuria at the end of micturition. On flexible endoscopy, he was found
to have scattered tubercles and island of pale patches resembling sand. Diagnosis?

X S veSwalil JuuSls .o gy CulSi S pUI Ugs sy S 555 Lo )31 =S bl S yaupo S0 Alw TO S
S UoaSi - ido DD Jilo Sauiw Jile S )y el (USe),lpl O e

[Question ID = 342]

. Bladder Stone/ ilio Siw [Option ID = 1365]

. Tuberculosis of the bladder/ ~lo 3> [Option ID = 1366]

. Schistosomiasis of bladder/ juw 05w g2 S ~ilio [Option ID = 1367]

. Bladder carcinoma/ ulb ,uw) risas Aslw IS ~ilis) [Option ID = 1368]

A W N -

103) Tympanic membrane is positioned obliquely at an angle of

St Loy I8 Jy wigly LS dub sluins
[Question ID = 343]

. 55 degree/00 )35 [Option ID = 1369]

65 degree/ £0 s,35 [Option ID = 1370]

80 degree/A+ 35 [Option ID = 1371]

70 degree/V+ s,S5 [Option ID = 1372]

N

A w N

104) Which coat of the eye supplies nutrition to various structures of the eyeball

St WsS M9 i) 9S Ugwas> wliio Sawl ndub U (g Lo USS 5\ 2SIl
[Question ID = 344]

Fibrous Coat/ &gS w5l [Option ID = 1373]

Uveal tissue/gi Jo9gs [Option ID = 1374]

Nervous Coat/ &gS wg s [Option ID = 1375]

None of the above/ uv 5995 —w a0 YU A>,250 [Option ID = 1376]

A w N =

105) Anotia refers to complete absence of



St $S59>:90 PAL S UasS S0 —w Livgil
[Question ID = 345]

A W N -

Ear Ossicles/ ul wlogac [Option ID = 1377]

. Teeth/ulxs [Option ID = 1378]

. Auricle of Ear/ ulS _sig,w [Option ID = 1379]

. Tympanic Membrane/ _sJub <Lac [Option ID = 1380]

106) Which ear ossicle is also known as anvil

St U U gy —w pU =S Jowl oS pboc sww LSS S LIS
[Question ID = 346]

A w N =

1

. Malleus/ _s3,lno [Option ID = 1381]

. Incus/ _sslaiw [Option ID = 1382]

. Stapes/ sulS, [Option ID = 1383]

. None/ uw 5595 —w ao YU A> 300 [Option ID = 1384]

07) Bayonetting sign is seen in

S Ul LU o puiS il Sidigil
[Question ID = 347]

A WN -

1. Cataract/au Ligo [Option ID = 1385]

2. Conjuctivitis/ pwi=> wgwl [Option ID = 1386]

3.

4. Ophthalmic injury/ w>ly> 9 o (S 551 [Option ID = 1388]

Glaucoma/ logSglS [Option ID = 1387]

108) Which of the following systemic disease has nasal manifestation:

Tum Wb Wb Vle Ylrio —w SU a0 Yoo ol YuS o 1D r>)dio
[Question ID = 348]

Wegener's granulomatosis/ juowsiiog)eais,S Lwy =9 [Option ID = 1389]

Sarcoidosis/ yuwyXisS ,Lw [Option ID = 1390]
. Churg - strauss syndrome/  giw uwsl)iwl S, [Option ID = 1391]
. All of the above/plos VU A>,30 [Option ID = 1392]

109) Mucocutaneous blistering disease is associated with severe ocular complications:

u b IU Olo)lee Ma S 20T gilw =S Y Yoo Vg AT YaaiaigsS 9Sgao:
[Questlon ID = 349]
Stevens - Johnsons syndrome/ pg,Xicw owil> uguiawl [Option ID = 1393]

Lyell syndrome/ og,%w JudJ [Option ID = 1394]
Mayer Rokitansky Kuster Hauser syndrome/og,%iw ,weild o8 (sSeuwili (sSg, ,uuo [Option ID = 1395]

Both 1 & 2/ Ugies ¥ 49l ) YU ~>,u0 [Option ID = 1396]

AWN—\

110) Jarjavay fracture is attributed to

[Question ID = 350]

Maxilla/V;Suo [Option ID = 1397]

Nasal septum/ oz Jsu0 [Option ID = 1398]

. Mandible/ JuXiwo [Option ID = 1399]

. None of the above/ s (s99S —w Luo YU ~>,00 [Option ID = 1400]

A wWwN =

111) Gestational hypertension is characterized by hypertension in pregnancy

590 e bso pAlbhgo Ulhed =S Jo> aS o n o sls oS Joo> 5,20 pMl bao
[Question ID = 351]

Without proteinuria/ ue S JV; Jgs [Option ID = 1401]

. Without pathological oedema/ s S loudgl (o0 [Option ID = 1402]

. With proteinuria/gilw S sJV; Jgu [Option ID = 1403]

Without proteinuria and pathological oedema/ . S loudsl (w0 y9l sJY; Jgs [Option ID = 1404]

A w N =

112) The cause of Mittelschmerz’s Syndrome is

S R — S 09w jowindio

[Question ID = 352]

. Menstrual pain/ ,a.=Jl pJI [Option ID = 1405]
Premenstrual tension/ jau=Jl 8 Lb,lsc [Option ID = 1406]
. Ovular pain/ yay9. pJl [Option ID = 1407]

. Prelabour pains/ Jo> gog J18 oVI [Option ID = 1408]

AN wnN -

113) Placenta implanted partially or completely over the lower uterine segment is



SO U] R —— Uy Ol o1 usb IS U S92 »0 ma> Ulsls =S p2) S nowsion
[Question ID = 353]

Abruptio placenta/ LiwwM, gaxiy |l [Option ID = 1409]

Placenta praevia/ pasoll a=Jl [Option ID = 1410]

Vasa praevia/ roasio ~col [Option ID = 1411]

Velamentous placenta/ a8y j,40 S 0,0l Ju> [Option ID = 1412]

A wWN =

114) The relation of the different parts of the foetus to one another is called

N V)| P S — Wi oyl S vaa> wlicko S i
[Question ID = 354]

. Lie/gogo [Option ID = 1413]

. Position/ gog [Option ID = 1414]

. Attitude/ w8g0o [Option ID = 1415]

. Presentation/ 5,2l [Option ID = 1416]

A WN -

115) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Breast milk is a rich source of vitamin D.
Reason R: Exclusively breastfed infants are at high risk of developing vitamin D deficiency.

In light of the above statements, choose the correct answer from the options given below

= WS LSl U0y 8 e wed ol = WS LS 'l puivpuwl 85 Ul Gy WU 59> ao Jud

et n20)d o 1S S8 Lolig D9> IS Ubs e | i yw]

=t Uy 03U 0,0 IS Jigy 1w Cld (S S5 Golis Uao U jaxio 20 13 a1 ueb JoSo 1)l Ujl,
U w0 WlSon S 205 Cls> i Buo pae gy S WUl VU n>r)dier

[Question ID = 355]
1. Both A and R are true and R is the correct explanation of A/, U,S wslog cow)s S oinywl «U3s,) 59l G 2uso Ugigs S gl |

[Option ID = 1417]
2. Both A and R are true but R is NOT the correct explanation of A/ —; U,S Luw waslog cow)s S Ginpwl U3, S « G guseo Ugigs Hl 9l |

[Option ID = 1418]
3. Ais true but R is false/ _, ble )T SJ o guxo |

[Option ID = 1419]
4. Ais false but R is true/ — guso )l S o ble |

[Option ID = 1420]

116) Match List | with List Il

List | (Diseases) List Il (Features)

A. Rabies I. Koplik's spot

B. Rubeola Il. Trismus

C. Scarlet Fever lll. Nigri Bodies

D. Tetanus IV. Stawberry Tongue
V. Aschoff Bodies

Choose the correct answer from the options given below:

o1>S UMo —w T Cod 1S ) G

Ulilin) T Cu) woll) | )
I > =S Shgs WSS Suw Ugi> A
Il ko i 0> .B

. plyl S, NI B> .C

IV. UL Spw Liawl ;S .p

V. Gouiol pluu

> Vle> guxo —w o Wlisow d A>)din:

[Question ID = 356]
1. A-1,B-lI,C-1l,D-V

[Option ID = 1421]
2. A-lILB-1I,C-1,D-IV

[Option ID = 1422]



3. A-lILB-1,C-1V,D-1l

[Option ID = 1423]
4. A-1,B-1,C-1I,D-V

[Option ID = 1424]

117) Arrange the following terms from birth towards adulthood.
A. Sinn-i-Rihaq

B. Sinn-i-Fata

C. Sinn-i-Tufulat

D. Sinn-i-Saba

E. Sin-i-Tara'ru

Choose the correct answer from the options given below

WSy U0 i ST vle> »S o —w piwlawss oMol b 2yt
Vb o A

i g .B

loab G .C

Lo yw .D

€,e0 o .E

> Vs> Buxo —w o Wlisew s 2,

[Question ID = 357]

1. C,A, B, D, E

[Option ID = 1425]
2. C,D,E A, B

[Option ID = 1426]
3. D,B,C,AE

[Option ID = 1427]
4. D,C,B,E A

[Option ID = 1428]

118) Tashannuj al-Atfal ka mutaradif hai. (Find the synonym/s for Infantile convulsion/spasm.)
A. Tashannuj-i- Salaami

B. Ra'sha al- Atfal

C. Uqgaal al-Atfal

D. Uqgaal al-Hawamil

E. Khunaq

Choose the correct answer from the options given below:

ur Wl o S Jlabl guwiu:
JbVl e, .B
Jbl Jlic .C
Jole> Jlee .D
Il E

ua> Vlg> puo w uao WhiSow U > din:

[Question ID = 358]
1. A, BandD only

[Option ID = 1429]
2. Cand D only

[Option ID = 1430]
3. Aand Conly



[Option ID = 1431]
4. DandE only

[Option ID = 1432]

119) Given below are two statements

Statement I: Children are prone for bedwetting (Bowl fi'l Farash) due to predominance of moistness in their organs.
Statement Il: Bowl fi'l Farash is caused by the flaccidity of muscles of urinary bladder.

In light of the above statements, choose the correct answer from the options given below

ur Wl 9> o ot

o 97 W9bso 03U slas] il ASUgaS o Usy ple Gy uae Us uoso bl 9 Jgy 1) Ll

e Ugy WudS S WMae S amlio wuw 1S wladl o9 Jgu Y uly

wr Vl9> () £9090 =w Uao S U gy S WUl YU > i0:

[Question ID = 359]
1. Both Statement | and Statement Il are true/ su gu=o Ugig> ¥ Ulu ol ) Uly

[Option ID = 1433]
2. Both Statement | and Statement Il are false/ w ble Ugigs ¥ ULy yol ) ULy

[Option ID = 1434]
3. Statement | is true but Statement Il is false/ —, ble Yolu S ) eu=o ) Ul

[Option ID = 1435]
4. Statement | is false but Statement Il is true/ — cu=o Y Ulu SJ o ble ) vl

[Option ID = 1436]

120) In babies delayed closure of anterior fontanelle is seen in.
A. Rickets

B. Craniostenosis

C. Hypothyroidism

D. Microcephaly

E. Hydrocephalus

Choose the correct answer from the options given below:

et Ul gsud o wolpol S Ugy dis —w 33U S ooVl 295U Lo L
A. glws

B. nroxoxdl plac Ylaidl wig jl Jud

C. md)d S ids / pjAilyilgisaily

D. ywlyl 20

E. ywlJl:bo

Ui Ol quxo —w o WliSew b 2,3

[Question ID = 360]
1. A, Band D only

[Option ID = 1437]
2. A, BandEonly

[Option ID = 1438]
3. A, CandE only

[Option ID = 1439]
4. A, Cand D only

[Option ID = 1440]





